EARAROBEEIERT — 2 N— IBISH —F 2012%6H 130 (k) 6EIEM5H

m#3%4ﬁi C3= B R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. AR :33. —6-1- . — FEP (Fh)
1lzl7| Y7z v7 o5 | BR 1(3_3)0 6-6-1-1 | 39.4 2 (4:;15) i
LiANTNGZ B:hH-U—Ev R F]skaed
B4 | KEKAER 1:33.3 2-2-4-3 [39.6| — 1 425 | EKEA (EH)
2/8[9|7=% 6.0 (1378 oy |HEEE
AL EIN— T B:TyTaT TR
. FRE M : -3-3- - ioiEE ()
31810 X224y aT7A % 8 54.0 1(733[:;1 354 %6 ° (4_5;(:; ERHFE
R:xFIO-UTR BIIVEXXTL WA fi2—
. . s 5 | A 1:33.9 1-1-2-2 | 40.5| — 3 433 | MEEE (FEk)
4 3| A=+ 7+ x>73 54.0 3) ) | @) Fr-—RbEVa>
R:ATOF47> B:EHhYTF— ng r—
N sz #o5 | BEHT 1:34.3 9-99-8 [39.2| — | 7 | an |HEHEE (FEH)
5 2= HINFIX ﬁ? AN52.0 (2 1/2) (-5) TEREr I
Rig—T— B3Y HEFHRF—T I
S, o4 | dLEFHEIL 1:34.3 4-4-5-5 |40.4| — 6 458 | HEB (FEl)
6l111| hEaZTY 56.0 (7 £) (o) |HERF
LhIWSx4Fv— B:72TVa BH Btk
R ERER= . £ o — — Fibpe (EMA)
717l FUTT /N o4 | BB 1(733 AR R ° (- |tEE®E
LAY/ YL F— BTITU-ZXT +EBS
> 6 | AKX 1:34.7 8-8-7-7 [39.9| — 8 405 | RERES (ER)
3 4| 7=V avh & 54.0 @ 4o) | RNfafT
R:FagpaUass B:vAFvEL UL TR
— .= KEE :35. ~10-10- . — FEERER (EE
9 61517125147 B4 xul 1(355)5 10-10-10-9 | 40.0 4 ;1_412) nindl
L:g=/F¥LLy b B:FILT1T BRT7—L
SO 12 mfEA :36. —7-8- . — AEKEN (EH
1w0lsls HHLRLI Ry 4 4 6 e 1(346)1 7-7-8-9 | 41.4 10 (4+13 i;am—
L4 F4aAR K BiyA A4 010> ERXT7—L
® 1—F—@EBIERL
1T=7r= 3,9,10,1,8,7,5,4,2,6
2a=5F= 3,9,10,1,8,7,5,4,2,6
Ja=5= 7,3,10,9,1,8,4,5,2,6
40—F— 7,3,9,10,1,8,4,2, (5,6)
[ N5
B 7 280M 714K 7-9 230M e E 7-8 240 JEE 7-9-10 970M
B B 7 1609 7-10 400M B = 7-9 470 EE 7-9-10 3,580
9 120 9-10 310M B H 7-9 810M
10 1809

ABICOVWTRDTEEERROODE. TR LIV,



